HARNK
TR AEY
[ 5 A R
PR B KA
=B R A

| BRI AR |

PRI Al B Fie R 73 BEBOCHR R R R

RE 5068 B A< 1 T 391 S 7k ST RT LA 7345 10 JBE M) < A8 L 5 2 0

| AT A | (
L 3 A ik Z AR B AR 8 20 B O A A

r{%ﬂﬁ%ﬁﬂ$%%%ﬁ%ﬁ\ﬁﬁﬂﬁ%%?%%@ﬁﬁ

FEA B E B 0 = OB 48 R + 37 I R (AR S + B B -BijE AR
PR SS fip Ee

JASL R B <t = A + 47 B e - A S
H-E IS B - A AT B S5 A + B AT 2 £t

| BB EBRERENTE g
AL B e B =1l B B 4 i - RO 9
HARAT
BARMLAT
| BB B VR BB LT il B
=Wt

R BE R A b AR 2 0 1 B 1y B < A B b T
r{%ﬂﬁﬁ%ﬁ%%%&@%#]—[ TRAES B B R AL B I < I E TE ) XUS

: L
L CEE Ry ST e e

FKEEME FIFCFEN AN SR 45 T TN i f — A A B e B i &

r{%ﬂEmM$ﬁ§¢&ﬁmﬁMﬁﬁ}
L ISR E =BG E WANE+ 3T IH AR - CRAM R+ =iz B4

Al B i = B AR 1 e R+ S B AR I B B + U e

r{ﬁw§$mﬁﬁ%%ﬁﬁ}[
t ik A B R = 2 S B A B R - A SO

AR
AL AR
ﬁ_{ UAE 3% 35 Pt 5 A TR }f{ﬁﬂammﬁﬁiﬁmﬁﬂ%EW%ﬁ Wi B
ST

LR A s — A REERS Al R RS 39T Al 5
H LA A T R RE S S BT ST Y
TA A

PO LS © MBCF R BEA A
RAGE I E

IKEEME TS KEEANEIIFCRRn AN A SR ST
T3 B J — SR Al B Bl e R

| 1 BB I E KPP Al

ZEUF M =0 B A - BN DA B A
ZEGERNIE = 1R - AU A A

LT = J5 148 VR - N BE A < AT 1 B A A
B YN/

AN

PR R A

=W Bty

| P R STILBRAE R  |

.

| v | {

;{%%ﬂ@%%ﬁﬁﬁ%%ﬁ

2 S AT ORERSHERTHST IR A 2EHE 0 AR A @

fE i AL Tl iR LR s I 2 DR ®

REAE N A b AL B A () AU HEAT 5 B4
ORISR S | s, mECPRRRR

FEAR 1 p B <At T AR 55 e 9 AR 0] B

e [ B L BB B 0 e
| WA B L i | t

BRI T U 5 ) i B I A DU 0] B

T 58 VAl R A AR AR
MU 0 5
i 2
e
SRR |

PNFIFAERE AR B ARE B K S it

PP S5 R

W RS FE AR I TR AT R 23
RE i 1 N S W EE B2 e 2

TrAE
T RIA RS SR AR I B AT EAREAT R 20 A BT A
"l e H5 bR AL 2 B A B A b

LR Al BIE AR AR Al A s AR B IA BoN . AMEdlicas

i 2 s FUAE A A 3 T A AT 1 A S A, ATy Al e 2
I 25 4 2 4 ) Bl
2 LN A

e 2 4 4

i

FRLENEG L GBI A 537 S H AR R AU AN S

X S Al i 2 ) PR 3R AT 2 A

S il 5 2 T 43
| ez B A R R TSAT e P 3 L0 b

Al AR AU B AR T

A 2 V2 AE AR P B PP A Y 8
|l |

— T
;[ SR 2 T ]— A B LT i
Sk i R T i

) B IRIETIE
J

| MR T -5 T 5

BRI 2 M B
X EE S HE T i

B RS TRIPPS

SR TNE

R X ——— TR T
| AR RO T O |

ML

| AR T - S O |

i R
VAT B O
R e ST
A T

v{ﬁﬂi%&ﬁ%ﬂ%ﬁw]

L WA TR A B 0 40 B
TC IR Hk 1H 2
BRH
ﬁ[%ﬁ§¢ﬁimﬁﬂwﬁ%ﬂﬁ¢&¢%ﬁ& 747 R B
Al E KU 8 5 2 5

f{%ﬁﬁﬂimﬁﬂ\Eﬁ%ﬁ@%ﬁ%ﬂﬁ¢&%ﬁ&
FEASU B8 AR B = T IR 1 T 5+ DX 31 T 5

ﬂ{%ﬁm®§m&Wﬁﬁﬂﬁ$&$%ﬁ%}

;_{ ST B }_ ST AT PRI B8 AR A
T GG A

% e A AN E T |
\{ ) R[S 1) 2

R=D/[POx (1-f) ]

| OB AR AR |

WACC=C/ (D+C+P) xRc+P/ (D+C+P) xRp+D/ (D+C+P) xRdx (1-T)

¥{MH¥WQ$&$%Mﬁﬁ%}

ﬁm%mgxﬁﬁ]

WA 2 T A 4B 0 2% A

[[&ﬁM%ﬂ%ﬁigu VAR T R
\ || A SRR
PETRAILR |
VAL R
EHI5 b

HEVTA Aol 396 2 5 B 22 B BB
( RV foll AR WS 2 T T
L POERBUPR Al BRI 78 20 1k
S kAL

;[ WAe it ¥ )3 P A R BR A2

Ak E 1B

P> VAR 2 B0 VAl 45 SRR S Ml UK
FLAT R0 0 A




